First Names Planets Wood
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hemlock

hickory

redwood
Jupiter Times First Names Planets Wood

Mars 7:30am
1:30pm

Mercury
3:00pm
Neptune 8:00pm
Uranus 10:00pm

1. Either the astronomer who pointed their telescope at Mars or the astronomer who pointed their telescope at Mercury
is Dillon.

2. The person whose table is made of hemlock is Sawyer.

3. The person whose table is made of hemlock didn't observe Uranus through their telescope.

4. Sydney arrived earlier than the astronomer who pointed their telescope at Neptune.

5. The person who arrived at 3:00pm caught a great view of Mars through their telescope.

6. The person whose table is made of oak arrived earlier than the astronomer who pointed their telescope at Uranus.

7. Of Dillon and the astronomer who pointed their telescope at Jupiter, one arrived at 3:00pm and the other has the table
made of hickory.

8. The 5 people were the person whose table is made of hemlock, the person who arrived at 10:00pm, Saul, the
astronomer who pointed their telescope at Mercury, and the person whose table is made of redwood.

9. The astronomer who pointed their telescope at Jupiter arrived earlier than Sydney.



